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AKEOXREREAIIZ X 5 XOEH!
Part C: RN AODRIE
[C1] # C1
Obs. | X/cm | Y /cm
no.
1 2.0 0.136
2 4.0 0.285
3 6.0 0.425
4 8.0 0.549
5 10.0 0.703
6 12.0 0.846
7 14.0 0.965
8 16.0 1.124
9 18.0 1.251
10 20.0 1.390
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Part D: /KOEEESH DRIE

[D1]:
[1=98.5cm I [,=55cm I L=1.04m
[D2]:
# D1
r?obs f/Hz | 2xo/cm | x;/cm | X;/m
1 60 0.782 0.196 0.00196
2 70 0.880 0.220 0.00220
3 80 0.966 0.242 0.00242
4 90 1.030 0.258 0.00258
5 100 1.096 0.274 0.00274
6 110 1.184 0.296 0.00296
7 120 1.253 0.313 0.00313
8 130 1.336 0.334 0.00334
9 140 1.415 0.354 0.00354
10 150 1.489 0.372 0.00372
11 160 1.545 0.386 0.00386
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Label
Dl
# D2
Obs.
No. In x1 In f
1 -6.235 4,094
2 -6.119 4,248
3 -6.024 4.382
4 -5.960 4,500
5 -5.900 4.605
6 -5.823 4,700
7 -5.767 4,787
8 -5.702 4.868
9 -5.644 4,942
10 -5.594 5.011
11 -5.557 5.075
fHZ = 145 g=290
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[DA4]:

o% KD 7T 7 EE 2 it g3

# D3
Obs. | f2(x1C% | x:3(x10%)

No. HZ /m?
1 3.6 0.75
2 4.9 1.07
3 6.4 1.42
4 8.1 1.72
5 10.0 2.06
6 12.1 2.59
7 14.4 3.07
8 16.9 3.73
9 19.6 4.44
10 225 5.15
11 25.6 5.75
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Part E: /K D¥5tER ¥ DB E

[E1]: R Ew % = 100 Hz

# E1
Obs | S
1 | 80 | 00276 3590
2 | 85 | 0.0330 3411
3 | 9.0 | 0.0385 3.257
4 | 95 | 0.0441 3121
5 | 100 | 0.0534 -2.930
6 |105| 0.0622 2.777
7 [11.0| 0.0745 2597
8 |115| 0.0870 2442
9 [120]| 0.1050 ~2.254
10 | 125 ]| 01215 2108
11 |13.0| 01412 -1.958
[E2]:
8% R DT T 7 K IV s HilHl s
P e i i I -
&l s.lu 10.0 120 Ly
<:~ t I l ..........................................
g 6 Slope=0.331 cm™
; ~6=04x03310=0.1324cm™
S o
§ J=13zm"
@
i 4 [E3]:
9 i MR B DYE:

_8 mjf
= 3 0
1 ©

| ' -3

| o _300 _3,132x59.2x107 _ 933 mpas

8nf 8  3.14x100
T n =093mPa.
@

I Vms

Page5 of 5




